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SOCIAL SCIENCE

Full Marks — 80

Pass Marks — 20

Time : Three hours

The figures in the right hand margin indicate full marks for the questions.

SECTION- A

(GEOGRAPHY)

Marks - 27
Answer Question Nos. | and 2 in a sentence each.

1 Why does mining of gold in the Kolar mine become more and more expensive? 1
wee xufant of 20rm ST o #oe FEe defs mefeiet?

2. Suggestone measure that would help mitigate cyclonic storms in coastal areas, 1
=5 pedent sERofor cod- confyel OF AEZATTE D OsEs el oERrd Awna
LB GO SRt GRte e @ g pezae Wt SHrR Ml INTSR UE |

Answer Question Nos, 3 to 5 in about 30 words each.

3 Write a short account of the peat soils of the Imphal valley. 2
eI pAntmet miy EARofon! KewE OFEWE BRI
T Tl P T aieR e Xy |

Contd.
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“Roads have an edge over railways."” Justify with two points of support. 2

=3 grElEnf oer ¢ #oe Eois &)1 Ak oUiRr miEE ®Es A5 Bo=i

‘Com TRl WS Wl CIA YCRRSRT O | N Wi g g gE ese |

Suggest two measures that would help check noise pollution. 2

Cf-FUF AUIATIE ERD ©EVRE Je Toid RewEl

Rt - canean e SUee G5 cdene WA et |

Draw a full page outline map of India and mark and label therein the following : ~ 1+1=2
Thar desert.

ZR5 TEF deyl BT OR ROTE CEm REE mRe mieds aofr! der swer mRln e
der S

S G TSR (N W (S el Wy S i s teew Seasn wiEe
DS

GERC o
Answer question Nos. 7 to 10 in about 50 words each.

Where are alluvial soils found in India ? 3
Aeww B2l SAR Es-EASH E§T 7
TG (A RIS T~ T 7
Explain briefly the three different ways in which electricity is generated. 3
sfzal oref ma'mes Pde-rtdes M TARE OFEmT S
At =& o[ conem - CoreaT *nlE WY Tt TS |
Why is iron and stecl industry mainly located in the Chotanagpur region ? Explain by grving
three points. 3
rPROEEE SRERE ' TROD SOMsET sTaoRgt fewse Jefr et ReW AR WIHC
MEFTE B

CETBTAISIE FATHR (HIS WS TGS TNy WG (AR IRAE 7 W g
el =T TS |
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10.

1l.

12,

Explain three adverse effects of the dams of multi-purpose projects. 3
sl MemE MRETIrd @l AR PTADE ETURNE wAR ossoe So )
TG e a5 TR (T YCAIEHE] WL <O O |

Answer question No. 11 in about 120 words.

Compare the geographical conditions necessary for the cultivation of rice with those of
wheal. 3

£ desniemne sede WES RAGM Epofam ma doam &AGR EfEoioe RomroRe
B I
GRS WRRTR SR NTEPA FiaiEiesn ot AIEal ATIIA PR SRl
3 |

Or/ expgm / F<aT
Explain five technological reforms taken up by the government to increase agricultural
production.
Fa-ofTe MDD PEELES ceBar MEREHETS PR DY KR ouswe ST
CNT-TeT CoMers CEsieeTa FRaeee ~TRAefRr fAeam® wraear Tems =i O |

SECTION -B
(HISTORY)
Marks - 27
Answer Question Nos. 12 to 15 in about 50 words each.

Name three movements that rose against the British in Manipur. 3
setmes spinloal Rwre AR 57 oerral BR'D B

fetopz owE et (B STE Rt wfhie 3y |
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13. How did the Greal Economic depression of 1929 -1939 affect England ? 3
sgfonmt @RoM sese BR0 SIns ENER SURE TXT OR-T RET TET ROWHE @ORE
PTAERIETE 1
<R Pafre su3n T Shes PIGIA (YT B -GN AR T 2LETY
gl CTeR A 7 _

14. “By the late 19* and early 20™ centuries the European countries and Morth America reached
a fairly advanced stage of industrialization.” Justify the statement by giving three points, 3

“WEFQIM—MWMFIE@HW{!!HHFWWMWMF
Fwoty oron win wEeetd Ev Ez0 RO Aoy o Fewkl 1T Gew CARRD MIAT e
arf REE A5% F21

“aBf 33w BR-5R TIAR S TR 20T 53 B WA e Teraed
(TS TR Wk WO B T s SIREa A% (R 7 W weEee

Rt 2w =i 5% THA T |
15. State three consequences of the Japanese bombing of Imphal, 1942, 3
Refowmt BROM $$26 W ZMED SRESR 7 LARfTNe WEAEO( B GAFAD 55l

4B FAFR S0 8T WA T (I YA GBI T NS 3 |

16. Onthe map of India drawn as answer to question No. 6 (of Geography portion), locate the
places with name, where : 14+1=2

(a) General Dyer fired on the crowd in 1919,
(b} Mahatma Gandhi broke the “Salt Law™.

A4 o2 e (of Geography portion) sluks w*sr Fwer dewml wom oEd ERmfofo oo
TWH'T REFOIDR RRMDTP BPECC 84 :

(2) mafeowe’ @Rofo ssse & Coeel dvee RN MEERT CDR GNoMosEE)

(b) wAvE moafe “Zeml dse" TRERTEN

7= 7: 63 (of Geography portion) *TE4H %=1 T TSR (R S SIS S
cerpi=an Ty st come e

(a) 3B TR 1919 71 CRTCR WA N AFTE I A |

(b) g e g e ganfRT |
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Answer Question Nos. 17 to 19 in about 30 words each.

17. Name the inventors of (a) Water Frame and (b) Mule. 1+1=2
(a) Awer gxrw wrowm (b) Bisw MPTR's wlorolvs we-wee* ?
(a) 758 @F wE (b) irTe s Mooy F=1-=man ?

18, State the importance of books. ‘ 2
gxeform! Eevsofos mal mefe ?
s iy R SR 2

19. “The carly twentieth Century India witnessed a new era in the growth of print culture.”
Justify the statement by giving two points. 1+1=2

“gerfomm g0 OF XA-RM AT ogww Aesmt om e Sasml ¢y we'r o wER 20w
rorwl 1" mew qofwmr mime HEr o XFE ANE 242

“FA 3 oW BB SIS WG] SIS QA CIITAl ST A ST 9T A
FHRell CUTa |77 W T Al N Wi puE 2EE T |

Answer Question Nos. 20 and 21 in one sentence each.

20. “The age of repression let loose by the conservative forces spread by the Vianna Settlement
was followed by 2n age of revolutions.” Justify the statement by giving a point. |

“g2n 2oy wens @remofe atede! Re-rerf wRD sz 54 cAzEnl Roere! Rpmsst
a4 mEF UR Prers it KeR TRREF MIEC Rer @of XEE AR 24

“ogerai- CRI ST iR Rermh - oot Wt Ba WY AN Sedl Ton
HACE WA N (A |77 T WS A aren o puE g Beg

21.  Why was Gandhiji not satisfied with the outcome of the Second Round Table Conference,
19317 1

wefonmd @roio seas o wefos dees FEl EuEr-EoE’ oo Rewfzie efnf AresfEe

235 gufis sso) it wiheT B G TEEEES! FAGTE STRISWT SN
CHmrEmaCe 7
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23.

24.

23.

Answer question No. 22 in about 120 words.
How did Germany become aunified Country in 18717 ‘5
Eerfoommel @eReln s¢as 7 BEwS tavwel WEEs S @R C©EE CrER(ERE 7
B FIPR Soa 37 TH TAN AN GRS SN ORI 7
Or
How did Italy become a unified Country in 1871 72
EatowrE mrolo see ¥ meRs svel omey S wE 50 oFRE 7

BT AL Seq ST S LA WA LIS W] 3R TRt 7
SECTION-C
(CIVICS)
Marks - 13
Answer Question Nos. 23 to 25 in a sentence each.
Whose decision will be fmal in case of any dispute about the division of powers between the
centre and the states of India ? ]
Heml Eewge TROLD §Z5 eden’n mefnf Rere orsf RErER Neeapss’ atnt soome
sy wErel?
TRES (FE TR A1 RS Sl T ¥ (T TR 0] AR SRR
s 7
Find out a neighbouring country where the majority community wants to force its domi-
nance over others and refuses to share power. |
reate Brseiel e oinfos ool ofzfecen crsse IFam ooel sreen! SHE GRETEeE
foy mie' matTEi
crEfe i s wtefig =fE Sidmaen g vz =<fe @al armn Ema
CERTE TG LTS | :
Identify the most important course of event for the success of a mass mobilization. 1
RiFR 57 amrl BE floees Ryserm Ruinofon ENEED! Re @55 RO Ro®
TSt HrZ = WR IR BURRET CHTeieE Y13 W O3 TS TR |

92 RM 20 S/Sc (N) 6 Contd.



Answer Question No. 26 in about 30 words,
2. Examine two ways in which Caste influence Indian politics. 1+1=2
Aevml geefnfs @y ofopwe 533 mis enyl wef de'n
TG Ao oxE Proga Ride Fia w5 i e
Answer Question No. 27 in about 50 words,
Z1.  'What is Prudential reason of Power Sharing ? 3
ore eyt Aofoent wew % A5sof Defe® R
& G L2t oW €% TRRi IR 3 |
Answer Question No. 28 in about 100 words.
28 Inspite of so many social and ethnic differences what sustains democracy in India ? 3
Aeye oRoe aRon Zeinl soes @ Jreo Baft® FeREREE ATIATEC TREW 7
TG ARG Swe S (A $h) L] St smegq B ot 2
SECTION-D
(ECONOMICS)
Marks -13
Answer Question Nos. 29to 31 in a sentence each.

29.  What is meant by inflation 7 |
SEEEeE AnEe mafed 2
TR I SR 7

30. 'Why do the banks invest the-deposits of the public as loan ? Ly
matmfERl FTrofoe RIARE PO0fEs o3 28 T5C IEafse 1
TR (ST S SR 0% G g% iR 2

31.  Why is agriculture still the mainstay of Indian economy ? 1
Arymt mruwisy Pa-ofmase RewEs ©se Air 2ay Jely mafmfe® 7
TRSH IR et v et <3 (Dt T1ed el #REG 2
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